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PHKM-U-ECO

ECONOMICS (PAPER-I])

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)
There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5§ are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space

provided. No marks will be given for answers written in a medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/Illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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@Us—A / SECTION—A

1. Frafafes 7@% v &1 SW @ 150 W= § AT
Answer the following questions in about 150 words each : 10x5=50

(@) T THERES SRErh a3 sigya Ry e Hin 9% aun sgeifos w96 3 e Rk
vy 5 agve fre T i @ R g § srgafie w9 @ fi gam awen @ R

Differentiate between perceived demand curve and proportional demand curve
in a monopolistic competitive market. Explain why the proportional demand
curve is steeper than the perceived demand curve.

(p) R fdunme i e f AeETeE e fii

Discuss critically the phenomenon of classical dichotomy.

() T Hiftm 5 = F gRFm A aar T H -1 A 39w F@ og R feh w R
O A GEAgER R H A et @ Sl R

Show that ad valorem tax is preferable to specific sales tax from a firm’s point
of view in generating the same level of tax revenue.

(@ T H 9 A FafEe w0 3 oo fa f ol w1 e Bk

Examine the role of treasury bills in controlling money supply.

(e) == ¥ 7a-wfifa wu-dra fify Rigra A g wras w0 o @i

Write down the major assumptions behind Neoclassical Loanable Funds
Theory of Interest.

2. (@) IEEA N R TG-A WEH-A IAEH & G4 H i N2 gEawar il Tdl H Fem Fife) g
Hfr 5 NS seara TaEE T4 A TAAG F TEEA T I R
Derive Pareto optimality conditions in production in a two commodities-two
factors-two producers framework. Show that Pareto optimality does not
necessarily guarantee for equity. 10+10=20

(b) Wi 3R TERE ¥ AR A R F gm § e SEeR-weh A # k) e
Hiftre 5 3 2 g 38 T s Rl | I E s w3 9 A R ST EHReE
B R

Write down the behavioural assumptions used in Marshallian and Walrasian

approaches of market stability. Show that these two approaches become

conflicting when both the demand and supply curves are positively sloped.
8+7=15

(0 mm%m@wﬁmammmmmn

Describe the short-run and long-run equilibrium of a firm ung :r monopolistic
competition. 15
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3. (@) @A & W | Fe9-USR Fgeq h FGURON H THAEY| F-0 F 3o d gof I
! Wa: ;€ TW fF S gwa @7 fawewo Hifv)

Explain the concept of underemployment equilibrium with graphical
illustration. Why full employment cannot be reached automatically in Keynes’
approach? Analyse. 10+10=20

(b) =& T GEA F MU | Ggfad TEA 3 (V) T =AW K (r) N 0T T WYfIG A0
e wied % 3TN R Hife -

Ghel 990 oA 1 s=-40+0-5(Y -T)+0-25r
W Hed : T=20+0-2Y

few wem : 1=20-0-25r

g A %eW : L=0-4Y-0-5r

A GF qfd : M =40 (Fs T3)

& g1 il gfd S € 20 HUS TQET TN, T9 Tger Gedt A fhE YR aRada gem?
Calculate the equilibrium national income (Y) and interest rate (r) by using an
appropriate macroeconomic model from the information given below :

Aggregate saving function : s=-40+0-5(Y -T)+0-25r
Tax function : T=20+0-2Y

Investment function : 1=20-0-25r

Money demand function : L =0-4Y -0-5r

Aggregate money supply : M =40 (rupees in crore)

How will the equilibrium values change when money supply is increased by
¥ 20 crore? 10+5=15

() = % giafda g &1 st favem Hifm)
Critically analyse classical theory of interest. 15

4. (a) =TGR Sl FR URG YA * G qU1 T I9E R 39 Ffeardt 1 avia i) o dmest
1 ot fovamo Fife st ey F ffeadt S @R og= wwd 2
Describe the mechanism of credit creation by commercial banks and its
implications on multiplier effect. Analyse some of the limitations that can
jeopardise the implications on multiplier effect. 10+10=20

(b) wESE 9 e aegett § St i) Tt argett  g=d § FW IER H FEHAA IdT

Bt &, = i)
Distir ruish between public goods and private goods. Explain how market
failure ~ccurs in the case of public goods. 7+8=15
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(¢ =1 % ufem fegra % srwla fer % frgra aon Ffem F 7o A gidwmr § @ o=m 27
TA% 3HT h F A Hl TR R7 FaA d_d § dR-w e st wfe @7
shfem fag Aifvm)

What is the difference between Fisher’s theory and Cambridge cash balance
approach to quantity theory of money? What is the criticism of each? Which
one is more relevant in present context? Justify. 8+4+3=15

@Us—B / SECTION—B

5. fafaRad y@% 3 1 IW @ 150 w=Et 7 A
Answer the following questions in about 150 words each : 10x5=50

(@) Towm % = § ‘gfa =few sfio o flo T ulpa gus §| TawS e FifT)|

Critically examine ‘per capita’ GDP as a crude indicator of development.

(b) Fafma @ % vaf¥@ 9@ qu Freea T899 = a9y

Explain managed floating and sterilized interventions for exchange rate.
|

(c) e ANR fFE THR a0 g B FA H GeES war &7 faam i

Discuss how carbon trading is helpful in reducing environmental degradation.

(d) ‘T3 TYes VR & hg 7 0 A RISFRI 1 FGR0 Ha 817 F1 A9 76 F9F 4 gg7a
# = 5
“Higher tariffs do not increase employment, they just redistribute the
unemployed.” Do you agree with the statement? Explain.

(e) wwemsT % foFm yR =R F wrfieri & fog odu a36t it wema @ wgfera =WR i W &
Bt Bl

Explain how the equilibrium terms of trade are determined by using offer
curves of the trading partners.

6. (@) WTE I § HEEE ¥ A gREW @ oY R W A HiR

Discuss the elasticity approach and absorption approach for adjustments in
balance of payments. 20

(b) VWreR-¥gueed figra i gema 4 fmsfia 3wt it o 6 smaHas | 987 9 I
MR % TPl Il 6t == i

By using Stolper-Samuelson theorem, discuss the possible effects of free trade
on income inequalities in developing countries. 15

(c) waemE % fF yor freht fafmg A @in 6 A9, sk f ®e w7 6 = qa FEE
wfeErt Iamt 6 W 7fd F I ¥ el Fd R
Explain how the elasticity of demand for foreign exchange is influenced by the

elasticity of home demand for imports and by the elasticity of home supply of
import-competing goods. 15
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7. (@) wIEe AR ¥ s faem & R % sEEr it am g sdferaedn & Ry
TS IR0 BT 21

Explain how the structural transformation, in the economy, takes place with
surplus labour as per Lewis theory of economic development. 20

(b) afde fawra # aEve-Fel et afea & @ 9 wfal ®&0 87 GESS-fst Tried
Hiew ) Gherdl h G&A 4 ATEwIhan 1 §7 IR F WY AT Ffe)
What are the advantages and disadvantages of public-private partnership

model for economic development? What are the key prerequisites for success of
PPP model? Explain giving examples. 10+5=15

() Twmsfia 3 ¥ fw oma siegs qon fafa gads f orfft ¥ ar-fer * 5@
(vg-fawe) 6 fR=T A s e orifa & T #0907 arEme)

Discuss the issues (pros and cons) in the debate over import substitution and
export promotion strategy for developing countries. Which strategy would you
favour and why? Explain. 10+5=15

8. (a) ©IH Y fwm FEHA (o TWo Ho o) F AFa fywm gEa® (Wo o 3MMRo) & T&A
! 1 A HIFY) 38 gEEE i wiae (Brn-vefa ) dmedt it fafew) @ dms @
[ FA F fog uge wfafy = gama A
Describe the major components used in Human Development Index (HDI) by
the United Nations Development Programme (UNDP). Write down the
methodological limitations of this index. Suggest appropriate method to
eliminate these limitations. 10+5+5=20

(b) FEHA q AF Ife F WA T H A T F Y FIE F IR U’ JHR F T A
qitehea @1 aui i) e 39t % R 97 oReern fre R T ®7
Discuss the inverted ‘U’ shaped hypothesis by Kuznets in describing the

relationship between inequality and economic growth. How is this hypothesis
useful for developing countries? 10+5=15

(c) a6 siftm w am wEhe R A R Ay e % fra TR 3 & ol 3fe
Hied § W H UR ARRWA H TR 9= Adl 2

Distinguish between warranted rate of growth and natural rate of growth.
Explain how knife-edge instability problem occurs in Harrod’s model of
economic growth. 10+5=15

* k&
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